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M_itosis or meiosis or both?

Statement
1 | Type of asexual reproduction //([—Jui Y
2 Part of process of sexual reproduction /7@‘05) S "dﬁg; SRR Lo
3 Increases genetic diversity /@ 05s. 7
4 Nuclear membef gssolves. Bati
5 | Cells split once Hlogs
6 Daughter cells have same DNA as original cell 7,/,s:
7 | Daughter cells have different DNA /77,1 @
8 |Daughter cells are haploid ' /2is ¢ §
9 |Resultsin2daughtercells 27, ¢ ¢
10 | Involves cells splitting in half [y I
11 | Produces gametes (sperm and ova) ,“{2;05.$
12 | Daughter cells are diploid =~ *{ e
13 | DNA thickens B b
14 | DNA replicates before process starts [é,,b fi./;
15 | Daughter cells have 46 chromosomes 7, {0 $S
16 | Cells split twice I oroses
17 | Chromosomes line up along equator 60%\
18 | Almost all cells go through process /%'{m}s‘
19 | Daughter cells have 23 chromosomes /ZQ’(“L’} £°3
20 | Daughter cells have 2n chromosomes /7(“(4)4 ds
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